Algebraic Representations – 2
[image: image1.jpg]What is the value of the expression (§ )
when x =187

a 2
b 12
c 36
d 108




[image: image2.png]What is the solution to the equation

3x+80=12—1?
a 27

b 9

c 9




[image: image3.png]What is a simplified form of the expression
-3 =5r+12

a -2
b 3xr+2
SBr-2




[image: image4.png]What is the value of x that satisfies the
equation 4x — 9 = 2 + 37

a 2
b




[image: image5.png]Ivan shows his steps in solving the
following equation for x

2n+3=7

Stepl: 2x+3-3=7-3
Step2: 2x=4

Step3: x=4x2

Stepd: x=8

In which step has Ivan made an error?
FoStepl

G Step2
H o Step3
J Swpd




[image: image6.png]The volume of a cylinder is 325 cm?®. The
height is 8.5 cm.

Which is closest to the measure of the
radius?

Hint: V= w2
a 349cm
b 6.09cm





[image: image7.png]A tap is leaking into a pail. The height
of the water in the pail is represented

by the equation /i = 0.5¢ + 2, where /i
represents the height of water in the pail,
in em, and  represents the amount of time
the tap has been leaking, in minutes.

What is the height of water in the pail if
the tap has been leaking for 56 minutes?

a 28em
b 30em
108 em

d 114em




[image: image8.png]Tnternet Plus charges a hase fee of $14
each month, and $0.08 per minute.

For how many minutes did Harpreet use
the Internet if he is charged $42 for a
‘month?

F 350 min
G 511min
H 525 min
J

700 min




[image: image9.png]A jewellery store sells bead necklaces.
Each necklace costs $4 for the wire and

$0.25 per bead.

Select the answer below that represents
this relation correctly in two ways. C is

the cost in dollars and 7 is the number of

beads.
a
z
b3
2
3
b C

Cost vs. Number

o ofBeads
ok
a
&
4
2
o 24680
Number of beads
Number of| Cost, c]
beads,n | §
° 0
5 25
0 250
= 375
o 500
4n+ 025
Number of| Cost, c|
beads,n | $
0 0
5 525
0 650
W5 775
2 000

c

C=025n+4

Cost ($)

Cost vs. Number
of Beads.

0
4812182
Number of beads
Number of [Cost, ¢
beads,n | §
0 300
5 525
0 550
g 775
2 000





[image: image10.png]Ripples in the Pond

Quinn drops a pebble into a shallow pond and watches a circular wave ripple ourward. The area
of the circle increases as the radius increases.

Complete the fable

Radius (cm) | Area (cm?)

o

Hint: Area of circle = 172

Graph these data below. Choose and label an appropriate scale for each axis.

A

Area (cm?)

Radius (cm)

Draw a line or cusve of best fit




[image: image11.png]Field Maintenance

A field in the shape of a trapezoid has a perimeter of 460 m. A fence is being built along the
fields perimeter.

8lx+2)
4-2) ax
-8

Determine the length of fencing needed for each side of the field.

Show your work.




[image: image12.png]Jobs

Peter has two part-time jobs. His earnings for one week are represented by the equation below
E=750r +825v

«  E's his total earnings in one week:

« ris the number of hours he works at the restaurant and

« vis the number of hours he works at the video store.

Peter earns a total of $117.75 in one week. If he works § hours at the restaurant, how many hours
does he work at the video store?

Show your work.




